EHEE JFA U-18Hvh—1)—%4'2023 IFAl)—% 3%} ABTJOv%Y 2023470308 I

i BIzt | BB |kick off HOME AWAY 2 1B e Et_“'tﬁl Et_z”dﬁl $4thEI ﬂggﬁ EE'
1| 3A] 3H18E[ (£) | 11:00 KPP ZEEB vs KPPt/ 4KA EEXEERI IV | EEFR|EEFR| EEFR|EEFR|EEFR
1|3A| 3A198|[ (A) | 13:30 BFANC vs e ke alne) aEYvh-15 2| E—Fh| E—Fh| £ —Fkk| £ —Fkk
1] 3A 3H18H| (£) | 12:20 B vs EEB XA FLUY AV T | KFITE|KFIE|KFIE|[KFIE|(KFIE
1|3A] 3g198|[ (A) | 11:00 =A vs I BETYyh—15 KE =R KE =8| KE =8| KF =8| KEZH
1|3A] 3A198|[ (B) | 1450 A% vs A=A I8 Hyh—74-IF F= B B B FE
1]3B 3198 (A) | 13:30 FEXRFAB vs {&£F0A BrHERAEI TN | BEXS | REAS | REXS | BREXS | EEXS
1138 3At19E| (A) | 12:30 FB= vs KFEEXB V8 Hyh—74-IF ERLAE dEPLE AP e APl A P Lk o
1]3B 3H18H| (£)| 10:00 KEIZEA vs 4B EVAFRLUY ARV T L B B 3RS 3RS 3k
1[3B 3A198]| (H) | 13:30 KEEB vs F=v: =P BRTYvh—15 b 5 5 5 b
1138 3A198[ (A) | 11:00 £—kB vs FIWA BiEYI-15 BHZ AN [BAF AN [BAF AN [BAF AN [BAF AL
2 [3A 3H25H( (£) | 13:30 KE# /%A vs B IFA79bE - V4B KPEEE|KFEE|KFEE|KFBEEKFEE
2 | 3A 3H26H| (A) | 11:00 HiaFEB vs A VbR MAN—YLEIBA [ BEXE [ BEEAS | BSEA S| REAS | EEXS
2 [3A] 3R268]| (A)| 13:30 BAFAIIC vs KPP B aEYI-15 F—Fhk| £ —Fh| £ —Fk| £ —Fk| £ —Fk
2 | 3A 3H26H| (A) | 13:30 TAE=A vs EEB I8 Yyh—24-IF HAE— | RS — | HAE— | B A E—
2 [3A| 3R258| ()| 11.00 #R[E vs A% U=bhhmAR —YEEB| R R R R R
2| 3B 3H25H| (£)| 11:00 {EF0A vs =4 i#B U=l mat —YILIEBA | B B 2R Bk B mR
2|3B 38258 (£) | 13:30 F= vs $£—%%B = EiHh 2 HMEkES | RIG R R R R
2 (38| 3H258]| (£)[ 13:30 HEXEAB vs KFEEB ErEERAESIN | BrR | Bk | By | B2 | B2
2| 3B 3H258] (£) | 13:30 RFA vs F=¥ =P VEbhATAN-—YILEEB | #RE fx i) fx i) fx i) ok i)

2 [3B 3A258]| ()| 14:.00 KETZEA vs KEBE£B IFAZ9RE =N tU48—A JKFHH | &KFHH | /KFHH | /KEHH [ JKFEHH
3 [3A 4B1H]| () | 11:00 RA vs KPPt/ 4%A ERTYvh—15 V=t I=PNE=T I=PNE=% I=PNE=T I=PNE=T I=PN
3 | 3A 4828]| (B) | 11:.00 mahE vs EEA=IA B8 Fyh—24-IF Bk | Bl Bl Bl Bk
3| 3A 4818]| (£) [ 13:30 B vs KP B IFA79bK - EU4—B KEEE|KF#EE|KFEE|KFEEKFEE
3 | 3A 4818]| (£) | 13:30 EEB vs #k e BEEZRERI 7V | BEEXR|EEXR| EEXR|EEXR| EEXR
3| 3A 4828]| (B) [ 13:30 HEiAFRB vs A=A IV yh—724-IF A& | i ch & | da b & | Ea | Ea
3|3B 4818]| (&) | 11:.00 KEE%EB vs &£F0A IFA79bE =N tU%—B B B B B B
3| 3B 4828]| (B) [ 11:.00 E4iEB vs $£—¥8B EHERAEY TN | EERFA | EERFA | FEREA | EEAEA | TEAEX
3|3B 4818]| () [ 11:00 JKFXBAB vs RIFA IFA79E =N EU4—A KEERE| KF%EE| KFE S| KESEE| KESEE
3| 3B 4828]| (B) [ 11:.00 KEITZEA vs BEAFAB 3039 FLUY A8V 7L [ KPEBA|KE B KF &8 | KF B | K E B
3| 3B 4818 () [ 13:30 P=F A=PN vs #F= BETYyH-15 & = = = =

4 | 3A 488H] (£) [ 11:00 KE# /%A vs EEB IFAZyME - EV5—-A KE 2=k | K E 2=k | K F 2=k | K F 25k | K F 25
4 | 3A 4A8H]| (+) [ 13:30 AE=A vs BAFHIIC I8 Yyh—24-IF A — | SRS — | RS | A — | A E—
4 | 3A 48| ()| 13:30 oA vs B IFA7yME -t U5-B FARE|FARE|FARE | FARE|FARHE
4 | 3A 4888 () [ 13:30 KEZEB vs EA IFAZYME =L Y8—-A S AL AL AL A el T
4 | 3A 4898| (B) | 13:30 HiahE vs e Tl EEFEaRI IV |BEEFXE|EEFXE| EEYXE|EEYXE|EEFXE
4| 3B 489H]| (B) [ 11:.00 {&£F0A vs KERBAB VbanmAk —YLEIBA | F— 2| 3 — 2k 5 —55k| 5 — 25k £ — %k
4]3B 4898]| (B) | 13:30 REXFAB vs RE Ui=bhhmAR —YESEB| R R R R R
4]3B 4898]| (B) [ 14:40 E—FfB vs KE®E%B IFAZybE =t 5-B A — | EAE— | AE— | B A E—
4]3B 4R8H| (£) | 13:30 P=F. A=PN vs KEIEA AT E Ry h—I5A Pl Pidloh Pidlo] Pidlo] Pidoh
4 3B 489H]| (H) | 11:00 RIEA vs =4 EB O bAATAN VRSB | REA | T RFR | mERFR | TEAEAR | TEAEA
5 [3A] 5R218| (A) | 11:.00 BAF HALC vs #x[E aEYvh-15 Basf—|BiaE—[BiE—[BiE—[BiIE—
5| 3A 58208 (£) | 14:40 KE#/%A vs Y o e s) w2 anFeLUY A9V T L | KEEER| KEER| K F R | K F & HR | K F AR
5 | 3A 58218 (B) | 13:30 =A vs A=A ErHeRAREIIIVDW|  Era | ByE | E5HF | B5H | B5E
5| 3A 58208 (£) | 13:30 B vs A% BEYYI-5 ¥R F—F0R| F—F0| F—Fk| F—FF
5 |3A| 5H218]| ()| 11:00 KPP B vs EEB PR Z BAEREES | FR B B B B

5| 3B 58218]| (H) | 13:30 %= vs RIFA FrRiRh 2 B RIS | K F 2k | K E 2k | K F 2k | K2k | K F 22
5 38| 5H218| (A) | 13:30 {EFA vs KEIEA EEXEaRI IV |BEEXE|EEFXE| EEXE|EEYXE|EEFXE
5| 3B 58218]| (A) | 11:.00 =4 HB vs Pt 1=PN SrEaRAEI N B &= &= i =

5| 3B 58208 (£) | 13:30 KEEEB vs BHEXFAB BIEEIABEAIZ | KKEHH [ JKEHH | KEHH | 5KEHH | ZKEHH
5| 3B 58208 (£) | 11:00 F—FRB vs KERBAB BEYN-15 B B B B B

6 [3A| 7H158]| (£) | 12:20 EEB vs BA%E HIC Mz/ELEB A EIA ) Rl Rl Rl Rl
6 | 3A 7R158]| (£) | 12:20 B vs TAE=A Mz /EhEEI N EIB KEEE|KF#EE| KFEE|KFEE|KEFEE
6 | 3A 6811H| (H) | 10:00 =A vs Hia s EVA9FRLIY ARV T L [l [l [l [l [l

6 |[3A| 7H168]| (H) | 12:20 L o ) vs KEZEB =i BBk | R I I I I
6 |3A| 6H118]| (B) | 12:20 Foar] vs KE%/4A £ aANFLUY REY T L b b b b b

6| 3B 7A168| (A) | 1440 E4iEB vs BEAFAB |ErAERAEI VN | ERER| RN SRR R B R
6 | 3B 7A15H]( (£) [ 18:00 KEIEA vs £—FFxB KE Y1024 RARZ [KPZBA[KF =B KE B | KF 8] | K F B
6| 3B 7A168| (A) | 1440 RIBA vs {&EFA SR 2 B MBS | B IR| BIATR | BIAIR| B IR Bl
6 | 3B 7A158]( (£) [ 15:30 KE B vs RE KBV 2-WRRZ | KEITE|KPIXE|KFIE|KFIE|KFEIZE
6| 3B 78158 (£) | 10:00 KEE%EB vs Pt A=PN Mz /88BN EB B B B B B
7[3A 68248 (£) | 16:00 KE#/ A vs i I8 Hyh=724-IF ERE A EE Rk e Rk e R
7[3A] 6A248]| (£) | 13:30 BA%£AIC vs Bt iR EEY v h—15A Pl Pl Pl Pl Pl
7[3A[ 68248 (£) [ 11:00 =A vs EEB HETyh—15 F= i i i FBE
7[3A 68248 (£) | 14:.00 L e bs) vs k[ KE Y474 RRZ | KEHH | KKEHH | Z/KEHH | JKFHH | JKFHH
7|3A 68248 (£) | 12:40 TAE=A vs KP B I Yyh—724-IF A E— | SAE— | HAE— | SR E— & E—
7]3B 68248 (£) | 10:00 % —¥f%B vs {&EFA aEYYI-15 BA% B |BAFAIL|BEF AL S A | BAF AL
7]3B 68248 (£) | 13:30 F= vs KEITZEA HEYyh—15 b b b b b
7138 68248 (£) | 11:00 E4iEB vs KPP EBAB ESHERAEIIIN | FEERFA | FERFA | TEREA | TEAFA | TEAEX
7138 68248 (£) | 12:20 KEE%EB vs RIFA Mz /& EN N EIA BxE—|AiME—|AME—|HiIE—|HIE—
7138 78238| (B | 1440 P=E A=PN vs HEAEAB |EHBMZEMNKRE [ HRE—|HRE—|(HRE—[ERE—(ERE—
8 | 3A 7H28]| (B) | 14:40 TAE=A vs KE /A U EbEM AR —YESB| &Rk RIL RIL RIL R
8 | 3A 7R18]| (£) | 13:30 BA%£AIC vs HA AiEYI-15 | F—F0R| F—F0| F—F| F—F
8 |3A| 7H228]| (£)| 16:00 EiF kB vs B SECHEERAESIIN| BhE | SAE | SiAE | BERER| B
8 | 3A 7818 (&) | 1440 EEB vs ERLAE BEEaRI 79U JK FRKBA | 7K B RXBA | 7k B XA | 7K B X BA | 7K B 2K ER
8 | 3A 7H2H]| (A) | 10:00 KEZEB vs Fx [ VibhhmAR—YEEB [KFITE[KFIX[KFIX|KFIZE|KFIX
8 | 3B 7H28]| (A) | 10:00 {&£F1A vs F=v: =P U =-bhAdAR —Y A | CENTRAL| CENTRAL [ CENTRAL | CENTRAL| CENTRAL
8| 3B 7R28]| (B) | 14:40 ik vs = 4imB ErHERAEI TN | -2k F—20k| F—20k| F—Fk| F—Fk
8 | 3B 7H28]| (B) | 12:20 KEITEA vs RIBA U=bian Ak —YILIEB | KE M| KE 2| kP 2| KF 2| KFEE
8| 3B 7R28]| (A) | 12:20 BHEXFAB vs $—2R8 ErHEERAESIN | BrE | By | By | B2 | B7a
8| 3B 7818[ (£) | 12:20 KEEEB vs KE B BEEERKYI 79U BEE =) =) =) =)

9 | 3A 7A8H] (£) ] 13:30 KE /%A vs BiFHIIC EEEZREEKRI 7V | EEFXR|EEFE|EEFE|EEFXE|EEFE
9| 3A 7RA88]| ()| 14:40 ; vs HA HETHh—15 BT E| BT E| BT E|ARNITE[LITE
9 | 3A 7A8H]| (£) | 11:00 EEB vs e ot alae) dbiEE% B MBS &% &% &% &% &%

9| 3A 7RA88]| ()| 13:30 #x i) vs A=A #ifEEYyI—15A I 12 I 1% I 1% Al Al
9| 3A 7A88]| (£) | 12:20 B % vs KEZEB IV Yyh—24-IF AR | EAE— | HAE— | B & —
9 (3B 7A8H]| (£) ] 13:30 {EFA vs FRE dbisiE% B S =) ES ES ES ES

9| 3B 7A8H]| ()| 10:00 B4 iEB vs KE®%B SRR AE N R I I I I
9 (3B 7A88]| ()] 12:30 KEEEAB vs KETEA BEBTN-ATIT -1 B BTN | BETNS| BB | EETUNS | BEETINS
9| 3B 7A8H]| ()| 12:20 RILA vs BEXRFAB SrEaRAEI N B | ByH | E7E | S7E | S
9[3B 7A308[ (A) [ 10:00 Pt A=PN vs % —F[%B aiEYYI-15 25 25 258 258 25




